S/ /OO0




Package A / headboard Tools included (in Package 1)

e

Tools needed

Package B / frame

1. Do not fully tighten the screws when connecting the individual components. Do this when all elements are connected

2. Be careful not to soil the upholstered parts of the bed. All bolts are coated with grease. Make sure that the surface you are working on is
clean

3.For the KIPLING model, the ears and headrest mounting accessories are located in the headrest. To take them out, you

need to unzip the zipper.




Package 1

o @)

©

(

@

Q
Vi

=

16 pcs 16 pcs 8 pcs 1 pcs 1 pcs 1 pcs 4 pcs
m8x30 inbus m6x30 inbus metal L shape  imbus M5 imbus M4  wrench  plstic washer
Package 3 Package 4
N ]
o i\
PR\
(=]
@
4 pcs 2 pcs 56 pcs slats (size Double) 12 pcs
metal corners adjustable legs m6x120

56 pcs slats (size Super King)
60 pcs slats (size King)

Package 7

Package 2

®
<

Package 5 Package 6

N ]

N—1

4 pcs 1 pcs 2 pcs
legs front panel side panel

2 pcs
slat frame

2 pcs
slat frame

1 pcs
slat frame



all the way.
Leave a 3mm space

g
[72]
=2
D20
=
[&]
50
c o
o5
o

2 _ s
r.lr
NG
Q05
Q=T
RO wn
S.ﬂ nM
G ==
a ®©

Step 1
Screw centre rail.

Assembly slat frame /
Package 1+5+8






Assembly upholstered frame /
Package 1+2+3+4+6+7 + Package A

Step 1
Screw all 4 corners
with M8x30.

Step 2
Screw all 8 pcs L shaped
metal elements with M6x30.



Assembly upholstered frame /
Package 1+2+3+4+6+7 + Package A

Step 3
Screw the adjustable
legs in the slat frame.

K
Y
B
S

Bolt all 4 legs
with key.
N—1

] 7
U







For the KIPLING model,

the ears and headrest mounting accessories are located inside the
headrest. To take them out, you need to unzip both zippers.

r\ ——~—




For the KIPLING model

After unzipping the zips, screw the "ears" to the headrest from the
inside using 4 screws M8. Place a metal washer under the screw.




